by The Campus League of Puzzlers

Solution to ARROW LINK:
When the puzzle is completed according to the
given rules, the closed path forms the letter E.
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Congratulations to Aaron Szasz, Nishant Pap-
pireddi, and Keita who were the first three to submit
the correct answer to last week’s puzzle on our web-
site (http://puzzle.berkeley.edu).

The goal of this column, which runs in the Daily
Cal and on our Facebook page each Thursday, is to
introduce you to a wide variety of puzzles. The solu-
tions to each of the puzzles will clue a single letter of

the English alphabet. When you've solved the puz-
zle, visit our website to confirm your answer.

This week’s puzzle is called an anacrossagram. In
this type of puzzle, you must use an anagram of each
word to fill in each row or column (the anagrams
themselves do not have to be words). Once you've
completed the puzzle, fillin the squares that spell the
words FILL, THESE, and IN (using adjacent letters, i.e.
ones that share an edge) to reveal this week’s answer.

Week 2: ANACROSSAGRAM

Across: 1.rifle 2. pearl 3. hefts 4. crass 5. stein
Down: 1.rests 2.selle 3.pinch 4. afrit 5. fears
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